

۲

$$B: \alpha = 0 \rightarrow \tan\left(\frac{\pi}{2}\right) = 1 \rightarrow (0, 1)$$

$$A: -2m + \frac{\pi}{2} = \frac{\pi}{2} \rightarrow m = -\frac{\pi}{\pi}$$

$$C: -2m + \frac{\pi}{2} = -\frac{\pi}{2} \rightarrow m = \frac{3\pi}{\pi}$$

$$C - A = \frac{\pi}{2} \quad \text{✓}$$

$$\frac{r}{9} - \frac{2}{3}(\sin \alpha) - \frac{1}{2} \cos^2 \alpha = 0 \rightarrow 14 - 2r \sin \alpha - 9(1 - \sin^2 \alpha) = 0$$

$$9 \sin^2 \alpha - 2r \sin \alpha + 5 = 0 \rightarrow \sin \alpha = \frac{2r \pm \sqrt{4r^2 - 20 \cdot 9}}{18} \quad \text{✓}$$

$$\sin \alpha = \frac{1}{3} \rightarrow \cos \alpha = \frac{\sqrt{8}}{3} \rightarrow 1 + \tan^2 \alpha = \frac{1}{\cos^2 \alpha} = \frac{1}{\frac{8}{9}} = \frac{9}{8}$$

$$\log \sin \alpha - \log(-\cos \alpha) = \log \frac{\sin \alpha}{-\cos \alpha} = \log \frac{\sin \alpha}{\cos \alpha} \rightarrow \sin \alpha = -\cos \alpha$$

$$\sin^2 \alpha = 9 \cos^2 \alpha \rightarrow \sin^2 \alpha + \cos^2 \alpha = 1 \rightarrow 10 \cos^2 \alpha = 1 \rightarrow \cos \alpha = \pm \frac{1}{\sqrt{10}}$$

$$\cos \alpha = -\frac{1}{\sqrt{10}}, \sin \alpha = \frac{3}{\sqrt{10}} \rightarrow \sin \alpha - \cos \alpha = \frac{4\sqrt{10}}{10}$$

$$\sin^2 \alpha + \cos^2 \alpha = \frac{r}{2} \rightarrow \sin^2 \alpha - \sin^2 \alpha + 1 = \frac{r}{2} \rightarrow \sin^2 \alpha (\sin^2 \alpha + 1) = \frac{r}{2}$$

$$\text{✓}$$

$$\rightarrow -\sin^2 \alpha \cos^2 \alpha + 1 = \frac{r}{2}$$

$$\cos^2 \alpha + \sin^2 \alpha = \cos^2 \alpha - \cos^2 \alpha + 1 = \cos^2 \alpha (\cos^2 \alpha - 1) + 1 = -\cos^2 \alpha \sin^2 \alpha + 1 = \frac{r}{2}$$

Date: / /

Sat. Sun. Mon. Tue. Thu. Wed. Fri.

Subject: -----

$$\frac{\sin m (r + \cos m)}{r (1 - \cos^2 m)} = \frac{\sin m (r + \cos m)}{r \sin^2 m} \quad \leftarrow \quad (a)$$

$$\frac{\sin m \sin m}{\cos m} = \frac{1}{\cos m} = \frac{\sin^2 m}{\cos m} = -\cos m \quad \rightarrow \quad \sin m \quad \leftarrow \quad (b)$$

$$\frac{r}{\sin m} + \frac{r}{\cos m} = 0 \rightarrow r \cos m + r \sin m = 0 \rightarrow \frac{\sin m}{r} + \frac{\cos m}{r} = 0 \quad (4)$$

$$\rightarrow \cos m = -\frac{r}{r} \sin m \rightarrow \cos^2 m = \frac{r}{r} \sin^2 m \rightarrow 1 - \sin^2 m = \frac{r}{r} \sin^2 m$$

$$\rightarrow \sin^2 m = \frac{r}{1+r} \rightarrow \sin m = \pm \frac{r}{\sqrt{1+r}}, \cos m = \pm \frac{r}{\sqrt{1+r}} \quad (c) \checkmark$$

$$\tan m + \cos m = \frac{1}{\sin m \cos m} = \frac{1}{-\frac{r}{1+r}} = -\frac{1+r}{r}$$

$$\sqrt{1 + \sin \alpha} = \sqrt{1 + \cos \beta} \quad \text{فصل ملاحظي} \rightarrow \sqrt{2 \cos^2 \frac{\alpha}{2}} = \sqrt{2 \cos^2 \frac{\beta}{2}} \quad (d) \checkmark$$

$$\sin \alpha + \sin \beta = \sin(\alpha + \beta) + \sin(\alpha - \beta) =$$

$$\sin^2 \alpha \cos^2 \beta + \cos^2 \alpha \sin^2 \beta + \sin^2 \alpha \cos^2 \beta - \cos^2 \alpha \sin^2 \beta = 2 \sin^2 \alpha \cos^2 \beta$$

$$= \cos^2 \beta \quad \frac{\sqrt{1 + \sin \alpha}}{\sin \alpha + \sin \beta} = \frac{\sqrt{2 \cos^2 \frac{\alpha}{2}}}{\cos \frac{\alpha}{2}} = \sqrt{2} \quad (e) \checkmark$$

Subject :

Date :

$$\begin{aligned}
 & \frac{1 - \cancel{2} \sin^2 \alpha}{\cancel{2} \cos^2 \alpha} = \frac{1}{\cos^2 \alpha} \quad \text{فردن طلای} \quad \cos 10 \\
 & \frac{1 - \tan^2 \alpha}{1 + \tan^2 \alpha} = \frac{1 - \tan^2 \alpha}{1 + \tan^2 \alpha} \quad \text{فردن طلای} \quad \cos 20 \\
 & \cos 2\alpha = \frac{1 - \tan^2 \alpha}{1 + \tan^2 \alpha}
 \end{aligned}$$

$$\begin{aligned}
 & \frac{1}{\sin 1} \times \cos 10 \times \cos 20 \times \cos 40 = \frac{1}{\sin 1} \sin 10 \\
 & = \frac{1}{\sin 1} \sin 10 = \frac{1}{\sin 1} \cos 10 = \frac{1}{\sin 1} \cot 1
 \end{aligned}$$

(9) ✓

$$\alpha (2 \cos^2 \alpha - 1) - 12 \cos \alpha = 10 \cos^2 \alpha - 12 \cos \alpha - \alpha = ? \quad (9)$$

$$\sin \alpha + 2 \cos^2 \alpha = 2 \rightarrow \sin \alpha = 2 - 2 \cos^2 \alpha \xrightarrow{\text{كوت}} \sin \alpha = 2 \cos^2 \alpha - 12 \cos \alpha + 12$$

$$\rightarrow 10 \cos^2 \alpha - 12 \cos \alpha + 12 = 0 \rightarrow 10 \cos^2 \alpha - 12 \cos \alpha - 2 = 0 = \underline{\underline{\Delta}}$$

$$\cos^2 \frac{A}{2} = \frac{1 + \cos A}{2} \quad 2 \sin B \sin C = 1 + \cos A \quad (10)$$

$$\cos (180 - (B+C)) = -\cos (B+C)$$

$$2 \sin B \sin C = 1 - \cos (B+C) \rightarrow 2 \sin B \sin C = 1 - \cos B \cos C + \sin B \sin C$$

$$\rightarrow \sin B \sin C + \cos B \cos C = 1 \rightarrow \cos (B-C) = 1$$

$$\rightarrow B = C \rightarrow B = C = 45^\circ \rightarrow A = 180 - 45 - 45 = 90^\circ$$